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QUESTION 1

Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.)
A. Complex architecture

B. IT driven policies

C. Comprehensive management

D. Flexible cloud delivery

E. Increased administrative cost

Correct Answer: BC

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html

QUESTION 2

What VMware product would address a customer\\'s need for micro-segmentation?
A. VMware vRealize Automation

B. VMware vRealize Network Insight

C. VMware ESXi

D. VMware NSX

Correct Answer: D

Reference: https://blogs.vmware.com/networkvirtualization/2016/06/micro-segmentation-defined-nsx-securing-
anywhere.html/

QUESTION 3

Which three features are common across all VMware vRealize Suite Cloud Management Platform editions? (Choose
three.)

A. vRealize Chargeback

B. vRealize Automation Advanced

C. vRealize Operations Advanced

D. vRealize Log Insight

E. vRealize Business for Cloud Standard

Correct Answer: BDE
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Reference: https://docs.vmware.com/en/vRealize-Suite/2017/vrealize-suite-2017-overview.pdf

QUESTION 4

What are two benefits of VMware vSAN? (Choose two.)
A. Integrate physical SAN

B. Uses only magnetic disks

C. Hardware-agnostic solution

D. Software-agnostic solution

E. Scale to future

Correct Answer: CE

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/vsan/vmware-
vsan-66-licensing-guide.pdf

QUESTION 5

Which three choices are design principles? (Choose three.)
A. Manageability

B. Constraints

C. Performance

D. Requirements

E. Availability

Correct Answer: BDE

QUESTION 6

A company is starting a cloud deployment project. They have a requirement to provide one time and operational pricing
for virtual machine provisioning by line of business. Which two vRealize Suite products will meet the requirements?

A. vRealize Automation

B. vRealize Operations Manager
C. vRealize Organizer

D. vRealize Orchestrator

E. vRealize Business
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Correct Answer: AE

Reference: https://www.vmware.com/products/vrealize-automation.html

QUESTION 7

Which VMware solution provides the highest availability?
A. VMware Update Manager

B. Vmware vMotion

C. VMware vCenter HA

D. VMware DRS

Correct Answer: C

QUESTION 8

VMware User Environment Manager, VMware App Volumes, and VMware vRealize Operations for Horizon are

available in which Horizon 7 Edition?
A. Horizon Standard

B. Horizon Enterprise

C. Horizon Professional

D. Horizon Advanced

Correct Answer: B

QUESTION 9

Which three choices are key objectives or deliverables for proposing a solution? (Choose three.)
A. Design Requirements Workbook

B. Backup Strategy

C. Operating Procedures

D. Implementation Guide

E. Validation Procedures

Correct Answer: ACD
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QUESTION 10

Match the VMware NSX solution component with the corresponding plane (layer):

Select and Place:

Answeil Area
Layer

Control Plane

Cloud Consumption Plane

Data Plane

Management Plane

Correct Answer:

Answel Area
Layer

Cloud Consumption Plane

Management Plane

Control Plane

Data Plane

Component

Self Service Portal

NSX Manager/RESTiul A pllcatinn
Fruygramuminyg Interfave (API)

entry-point

NSX Contrcller/Logical Router
Control VM

NSX Edge/Scale Out Distributed
Services

Component

Self Service Portal

NSX Manager/RESTiul A pllnation
I"luglulmll ny Interfave (API)

entry-point

NSX Contrcller/Logical Router
Control VM

NSX Edge/Scale Out Distributed
Services

Reference: http://www.vmwareminds.com/2017/07/06/what-are-the-nsx-components/

QUESTION 11
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Which two are use cases for a VMware vSphere deployment. (Choose two.)
A. A company wants higher availability in their data centers.

B. A company wants to run all applications directly on bare metal servers.
C. A company wants a mixed workload of public and private cloud.

D. A company wants to run all workloads in the public cloud.

E. A company wants to run all workloads on-premises.

Correct Answer: AE

QUESTION 12

Which feature of VMware vSphere will automate the process of migrating virtual machines to fewer hosts during times of
low workloads?

A FT

B. EVC

C.DPM

D. HA

Correct Answer: C

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/itechpaper/Distributed-Power-
Management-vSphere.pdf (p. 3)

QUESTION 13

Which VMware Cross-Cloud Architecture component can speed up and improve IT service delivery, improve IT
operations, and deliver end-user choice with control across heterogeneous and multi-cloud environments?

A. VMware Workspace One

B. VMware vRealize Suite

C. VMware Airwatch

D. VMware Cloud Connector

Correct Answer: B

Explanation: Vmware vRealize Suite delivers a comprehensive enterprise-ready cloud management platform (CMP) that
can speed up IT service delivery, improves IT operations, and delivers end-user choice with control, across

heterogeneous, multi-cloud environments (vSphere and non-vSphere).

Reference: http://ir.vmware.com/overview/press-releases/press-release-details/2016/VMware-Unveils-New-Cross-Cloud-
ArchitectureTM-to-Give-Customers-Cloud-Freedom-and-Control/default.aspx
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QUESTION 14

A supervisor wants employees to seamlessly log into remote applications without having to enter their credentials
multiple times. What is required to support true Single Sign On (SSO)?

A. Horizon 7 and Windows Server 2016

B. Horizon 7 and any Linux Operating System
C. Only Horizon 7 is required

D. Horizon 7 and Identity Manager

Correct Answer: D

Reference: https://docs.vmware.com/en/VVMware-Horizon-7/7.3/horizon-architecture-planning/GUID-
E8152572-1B10-42C2-B605-1EF738AC2D20.html

QUESTION 15

A customer wants to ensure that management cluster storage does not impact production cluster storage performance.
What VMware product would meet this requirement?

A. VMware Storage DRS
B. VMware vCenter Server
C. VMware vSAN

D. VMware Virtual Volumes

Correct Answer: A
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